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QUESTION 1

What kinds of transceivers are supported on Orchestrator MHO-140? 

A. SFP, QSFP, QSFP28 

B. SFP, SFP+, QSFP, QSFP28 

C. SFP, SFP+, SFP28 

D. SFP+, SFP28, QSFP 

Correct Answer: B 

 

QUESTION 2

What is a Security Group? 

A. Logical group of computer and network resources 

B. Group of security administrators 

C. Group of security gateways 

D. Group of appliances with enabled NGTX software blades 

Correct Answer: C 

 

QUESTION 3

What is the purpose of Management ports located on the Rear Panel of the Orchestrator MHO-140? 

A. Reserved for internal purposes. Not in use. 

B. Out-of-band interfaces for access to Orchestrator itself. 

C. 1Gbps connectivity for Security Groups. 

D. Additional ports used as uplinks. 

Correct Answer: B 

 

QUESTION 4

What cannot be learned from the output ofasg monitorcommand? 

A. Appliances cluster status 

B. Port status 
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C. Uptime 

D. Security Policy status 

Correct Answer: B 

 

 

QUESTION 5

In case of VSX: What is the right command to see overall performance details of all Appliances within the Security
Group and all Virtual Systems? 

A. asg pert -v -p 

B. asg pert -vs all -v -vv 

C. asg pert -v 

D. asg pert -vs enabled -p 

Correct Answer: B 

 

QUESTION 6

What is the default Distribution mode? 

A. User 

B. Auto-topology 

C. Manual-General 

D. Network 

Correct Answer: B 

In Check Point firewall, the default Distribution mode is Auto-topology. Auto- topology uses the built-in algorithm to
automatically determine the best way to distribute the traffic across the firewall cluster, based on the topology of the
network 

and the current load on the cluster members. 

Auto-topology takes into account the available bandwidth and the CPU utilization of each cluster member, and then
makes decisions on how to distribute the traffic across the cluster in real-time. It is a dynamic and adaptive mode that 

ensures the best use of the available resources and the highest level of performance. 

 

QUESTION 7

How many orchestrators may Dual-Site include\\'\\' 
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A. 2 or 4 

B. 2 

C. Only 4 

D. 1 

Correct Answer: A 

 

QUESTION 8

What cannot be a reason for "Failed to get remote orchestrator interfaces" error message, when clicking on
"Orchestrator" in WebUI? 

A. Remote orchestrator has no empty interfaces 

B. One orchestrator only, but Orchestrator amount is 2 or no Sync in between orchestrators 

C. No Sync between orchestrators 

D. Single orchestrator environment, but configured Orchestrator amount is 2 

Correct Answer: A 

 

 

QUESTION 9

What is the maximum amount of Appliances within Security group in Dual-Site configuration? 

A. 16 

B. 15 

C. 28 

D. 31 

Correct Answer: C 

 

QUESTION 10

What cannot be a reason for DETACHED status of Appliance when runningasg monitor command? 

A. Appliance reboots 

B. Appliance is a member of Security Group, but currently disconnected 

C. Appliance installed with R80.20 
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D. There\\'s an issue with Downlink cable 

Correct Answer: C 

 

QUESTION 11

What does the lldpctl command do? 

A. Show all devices discovered by LLDP protocol on downlink ports 

B. Discover orchestrators 

C. Show all devices discovered by LLDP protocol on uplink ports 

D. Show all devices discovered by LLDP protocol on all ports 

Correct Answer: D 

 

QUESTION 12

What is the Orchestrator? 

A. Load balancer 

B. Network Switch 

C. Manager of compute and network resources, load balancer and network switch 

D. None of above 

Correct Answer: D 

 

QUESTION 13

In case of Correction, where is information about Owner stored? 

A. In Connection tables of all Appliances participating in Correction Layer flow 

B. In Correction tables of all Appliances participating in Correction Layer flow 

C. In Correction table of Target Appliance 

D. In Connection table of Target Appliances 

Correct Answer: A 

 

QUESTION 14

What is the minimal requirement for a Security Group? 
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A. 1 Appliance and 1 management port 

B. 2 Appliances and 2 ports 

C. 1 Appliance and 1 administrator with Multi-Domain admin permissions 

D. None, it may be empty. 

Correct Answer: A 

 

 

QUESTION 15

What is the default IP range of CIN network (with no increment)? 

A. 192.168.1.0 

B. 198.51.100.0 

C. The same as Management network 

D. 192.0.2.0 

Correct Answer: B 
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